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00 1.1. 0000 gOo0O0oQ,
(1) 000000000000 0000 0000 000: g =g, g = [g,gkD].
(2) 0000 g0 m-step 00 00, 00000000: g™ =000 gD £0.

0 1.2. 0000000O0O0ODOO:
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000000 (000000 1-step).
00000000000000000 (nxnO000 (n—1)-step).
0O0000000000D00000.
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goboobooooboobobooboog:

XY =2 (forie{l,...,n}).
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00 1.3. 0000 g0 OO0 OO0,00000000: [g,g000.

0 1.4. 00000000000:
(1) D0DDoooo.
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Heisenberg 0000 boyy1 (2-step). 0000, 00 {Xy,...,X,,Y1,...,Y,,Z} 000,



(2) 00000000O0O0O0O0O0OOO0.

(3 00000000000000O0O.

(4) 0000000000 ggen. 0000, 00 {4,Xy,...,X,1}000,0000000
000000000O0O0O0:

[A,Xi)]=X; (forie{l,....,n—1}).

(5) D0DDO0DUOODODO gegn. OO0ODO, span{A} O ho,—1 OO0DOO0000,ads OO0
gobooboogoon:

(A, X:] = (1/2)X;, [A,Yi] = (1/2)Y;, [A,Z]=Z (forie{l,...,n—1}).
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00 2.1. 00 0000 000: RH?2:={z¢€ C|Im(z) > 0}.
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00 2.2. 0000 RE?20000,0000000:

(1) SLy(R) 00000000000 RH2000000000.
(2) RH2 = SLy(R)/SO(2).
(3) 0000000 SO RH2O0000O0O000000. 000 RH22S:

S::{(‘OL a91>€SL2(R)]a>O}.

00 23 (0000). 000D000D0OO0ODOOOODOO:
(1) D00 SOUOUOU0O0OO0O0OO0,000000000D gryz 000 (DODO):

5::{<8 _ba ) EE[Q(R)}.

(2) 00 shL(R)=t®e®n000000000000.000000,

S (C | SR (T AR ()

(3 000 ¢00000O0,a000,n0O00.
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00 2.4. RH200000000,0000000:
(1) 000 N-O0ODODOO (ie. SLy(R) DOOOOOODO).
(2) A.(V=14b) = (Sy)./—1,000 S, 00000000000000: s, :=span{A+bX}.

000,000 N-OOODOD AD000000000, sp:=span{cos(d)A +sin(d)X} (00

06el0,r/2)) 0000000000 S,00000 (Sp)e0000000.

3 00000000000 SLy(R)/SO(3)
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00 3.1. 0000000 S0, M :=SLy(R)/SO(3)00000000000.000 M~S:

S = € SLs(R) | a,b,c > 0

O O R
[eslES U S
*

00 3.2(0000). DD0ODUOOOOOOOOO:
(1) 00 SOOUO0OU0 sODODOOOOO,0000:

a *x %
0 0 ¢
(2)DD5[3(R):f@a@nDDDDDDDDDDDD.DDI:II:II:II:I,
a 0 O 0 * =x
t:=0(3), a:= 0 b 0 ||tr=0), n= 0 0 =x
0 0 ¢ 0 0 O

(3) 0000 ¢000000,a000,n000.
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00 3.3.g:@gk|] 000000 00,00000000: Vp,q€Z, [gP,g7] C gPt.
keZ

0 3.4. 000000000 sih(R)=gtog’egt0000D0DOO:
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00 3.5.000,s,,(R)00000000O0O0OOO,000000O0OOOOO.
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00 3.6. 00000000000, q:=@Pe* 0 0000000 OO0,
k>0

0 3.7.00 s3(R)000000DO0ODOO0O:

k k k k k *
d(2,1) = *x ,qa,) = 0] *
0 0]« 010

00 3.8 (Langlands O 0O).
(1) 00 q1) =M1 ®a@y Gne 000000000000, 000000,

0]0 0 0
m(271) = EIQ(R), a(271) = al|0 ‘ tr=0 y n(271) = 0 0
0|b 0 0
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(2) oooao m(g,l) DDDD,G(QJ) DDD,U(QJ) ogoo.
(3) 00000000 s@.1) = @) S N2l

00 3.9. 0000000 DOO0OOOOODOOODDOO:
(1) ooo sl,(R) DOODDOODDDODOODOOOD,000DO00OD0DDOOODODOODDO
Langlands 00O QO O0O0O.
(2) (1,1,...,1) 0000000000000 OOOOOOOOOODOOOOOO,O0O0OO00
ggoooooono.



